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COMPUTER EXAMINATIONS - JANUARY/FEBRUARY, 2019

OFFICE AUTOMATION
( THEORY )
Time : 1 hour | [ Max. Marks : 100
Instructions : i) Write your Register Number properly.

ii) Do not tag extra sheet with this Booklet.
iiij Use Blue / Black ball point pen only.

I. Choose the correct answer : 20X 1 =20

1. The speed of transmission of data using Modem is measured in

(A) Binary per second (B) Bits per second

(C) Binary phone services (D) Bits per signal

2. To move the text, first we use ................. command and then Paste
command.
(A) Cut (B) Copy
(C) Move (D) Drag
3o command is used to check the status of the disk.
(A) DISKCMP (B) CHKDSK
(C) SCANDISK (D) both (B) and (C)

4. Double click in the selection bar selects a

(A) Word (B) Sentence
(C) Line (D) Paragraph
S T displays the name of application and filename.
(A) Menu bar (B) Title bar
(C) Status bar (D) Tool bar
6. The default font in Word 2003 is
(A) Calibri (B) Arial
(C) Times New Roman (D) Algerian
T i button totals a range of values.
(A) Add (B) Sum
(C) Autosum (D) Total
8. The shortcut key for Spelling and Grammar is
(A) Ctrl+S (B) F7
(C) Shift+ S (D) Shift F7




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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To copy the selected cells, using Drag and Drop option press

Title

................. key.

(A) Ctrl (B) Shift

(C) Alt (D) Enter

The file created in Excel is called

(A) Worksheet (B) Workbook
(C) Table (D) Database
Powerpoint is used for creating

(A) Presentation (B) Reports

(C) Worksheet (D) Documents
..................... displays the address of active cell.
(A) Status bar (B) Name box
(C) Tool bar (D) Scroll bar
....................... Master in Powerpoint controls all slides except
slide.

(A) Notes (B) Handouts

(C) Title (D) Slide
....................... key is used to uniquely identify a record in a table.
(A) Relational (B) Unique

(C) Primary (D) Foreign

The shortcut for Slide Show is

(A) F5 (B) F7

(C) Fo (D) F9

To delete a slide, use ........cccceevenennen. option.

(A) Erase (B) Delete slide
(C) Remove (D) Clear
....................... accounting relates to Assets.

(A) Personal (B) Nominal

(C) Management (D) Real

There are ................ numbers of predefined vouchers.
(A) 18 (B) 13

(C) 28 (D) 15

................. voucher will have no effect in the books of accounts until

the date reaches.

(A) Reversing (B) Memo

(C) Optional (D) Post dated
The shortcut key for selecting company is

(A) AltF11 (B) F1

(C) AltF1 (D) F11

[ Turn

over



Code No. 41 X 4 @

II. Fill in the blanks : 20 X 2 =40

1.

10.

11.

The two types of software which load at the startup are

....................................... and ...ooeeiiiiea

The shortcut keys for Undo command iS .....cccoeeviiiiiiiiiiniininienennnen.
and for Redo is ......c.coeviiiiiiiiiiiiiiiiiinninn., .

The default page orientation for presentation is
....................................... and the default view is ......c..coeeviiiiinininn. .
........................................... and .......ccoceeeiviiiiiiiiiiiiieineenen.... are the
2 types of scrollbar.

Excel 1S 8 iiiiiiiiii e program and the
extension of Excel template iS ......ccoveiiiiiiiiiiiiiiiiieeeeeenes .
.................................................. statement contains various ledger
balances and ........cociiiiiiii statement is used to know

the financial position of the company.

helps us to add notes for the slides.

The two types of SOTting Are .......ccoiiiiiiiiiiiiiiiiii e,

AN o .

By default, paragraphs are ........c.ccocoviiiiiiiiiiiiiiiniininnenne. line spaced

................................................. option is used to set timings for the
slides and .......cc.coeviiiiiiiiiii e, option is to set the effect for

entry and exit of slide content.

Intersection of ..c.ovviiiiiiiiiiiiiiiiiieene, ANA i

is called as cell.



12.

13.

14.

15.

16.

17.

18.

19.

20.
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........................................... voucher is used to enter the transactions

related to Sales Returns and  ....cooovveeiiiiiiiiiiiiieiiene. voucher is

used to enter Purchase Returns.

The shortcut for displaying current date iS .......ccoeeviviiiiiiiiiineiinennnnen.
and for time IS .......coveiviiiiiviiieeeeeeen .

The shortcut key for Bold IS ...ccovviiiiiiiiiiiiiiiiiieeeeeeeee, and
for ItaliC IS teuevnieiiiiiiii e .

Two options where you can add page numbers are

In DOS, filename can be Up t0 ....oeveviiiiiiiiiiiiiiiiiiiee, number

of characters and extension name can be up to

............................................ number of characters.

Mail Merge involves merging of ......c.coiiiiiiiiiiiiiiiii e
And ..o .

............................................. icon gives view of the devices connected
to the computer and ........ccocoveiiiiiiiiiiiiiiiii, icon facilitates
browsing of LAN.

Light pen iS @ ...ocoveviiiiiiiiiiiiiie e, device and floppy is a
............................................ device.

VAT is expanded as .....ccocoveiviiiiiiiiiiiiiiiniieiiieeeeeneanes and TDS is
eXPANAEd @S c.uiviiiiiiiii e .
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III. Write whether the statements are “True” or “False”. Do not write ‘T’ or ¢ v’

for True and ‘F’ or ‘X’ for False : 10x1=10
1. Machinery comes under Indirect Income. ...,
2. You cannot Rename a sheet in Excel. i

3. The physical structure of the computer is

called software.

4. Ctrl + N is the shortcut key for calculator
in Tally. e

5. Notepad is a Text Editor. e,

6. The footnote text appears at the bottom of

every page of a document. e

7. By default, Grid lines will not be printed in

EXCEL.

8. Slide sorter view helps to display all the

slides at the same time. s

9. Ctrl + ] is used to increase font size by one

point. e

10. The extension of Access file is ACS. i

IV. Fill the appropriate answers for the following : 5X5=25
1. a) The physical components of computer are called ........................

b) The 4 important parts / units of computer are

D) e e unit
1) e unit
TI) e unit
IV) e unit
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Write the shortcuts for the following :

a) Features
D)  Configure e
c) Payment VOUCher ......cooooiiiiiiiiiiiiii e
d)  Shut CompPany coeeieiiiiii e
€)  Contra VOUCKhET .o

List the components of an Application Window :

=) [PPSR PT TP PPTPRRN

o) PP PP PPP PRI

o PP PP RPN

Q) e e

1<) PP P PP TPPPTPRTR

Q) e option gives the meaning of a word.

D) option helps you to add decorative text
in your document.

C) e option helps us to enter Text/Graphics
at the top of each and every page.

d) option is used to check for mistakes.

€) e option is used to convert the letters to

upper case.

Q) e number of rows

D) number of columns

C) e number of default sheets
d) number of alignments

€) e number of orientations.
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V.

Match the following :

A
1. =TODAY ()
2. A4
3. Portrait
4. Soft
S. Justify

(A)

(B)

©)

(E)

B

Paper size

Alignment

Function

Orientation

Page break

(A]
5X1=5

Answers :

1.




